03089_CP NHIHAHNEHPERE K TEREHXLLF, BYUSHM

W BiE

7= miiEA

ME

P HIFAE
HERELEAE -
BUEFNEENHE R B EHIN.

TEHMNHE
HEEMHELELLE
BN EFMAENS 1.4305,

RIREREMBENEELELF,
EeRRIRY.

K
W
MA@, AN BEeEALE,

W :
T ARZELAE | A RECLE,

BR:

PEHEATHEEONSHBMEVNEETER. REAFNRHEKREETEE
BHIFHHENE, NMERETEH4EERERSEB KA EHERR
f45E | Tk CP &,

BRI NRERERBIREN SUAHEHEE , Rt TER
2,

BABEREESRE , SR (MR ) RE,

BEEXK
RREKH,

B4
&) fRER 03089

© norelem www.norelem.com



03089_CP A FEMEHATAE  SEHEHALIDE. BYSNH
N [norelem|

™ j
~J
[-0.02
-0,04
il —
03089-97903 03089-197903 CP | 3 M6x0,75 14 255 |6 5|35 8 0,8 4 10
03089-97004 03089-197004 CP | 4 M8x1 18 295 |6 6| 4 10 1 4 12
03089-97105 03089-197105 CP | 5 M10x1 21 345 |8 7| 5 13 1,3 5 12
03089-97206 03089-197206 CP | 6 M12x1,5 25 41,7 |10 8 | 6 14 1,8 6 14
03089-97308 03089-197308 CP | 8 M16x1,5 33 54 |12 10| 8 19 2,3 14 28
03089-97410 03089-197410 CP |10 M20x1,5 33 61 |15 12| 10 22 2,8 15 32

© norelem www.norelem.com



